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[DSE 2012 - 2021 %—,%ﬁ?rﬁ*)ﬂ

DSE 2012 - 2021 SFEi(1) 2AFSZZERE 0

IREIER

AT 3 3 4 3 3 3 3 3 3
Az 3 3 3 4 4 3 4 4 3 3
REH R 3 3

EeAER 4 4 4 4 4
AV A

_RAERE 3 5

B A 4 4 4 4 5 4 4 4
R AL E 5 3 5 3 3
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[DSE 2012 - 2021 %—,%ﬁ?rﬁ*)ﬂ

DSE 2012 - 2021 SFEi(1) 2AFSZZERE 0

2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021

BEZIET
=Y S lnw 3
) 5 5
SKIEE 5 5 5
ST 44 a1 5 4 5 5 5 5 5
ARZ L4 (0] o B R 4 5 4 4 4
R RS 3 2 2 3 2
et 4 5 3 3 2 3 5 5
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DSE 2012 - 2021 FHE[(2) ZAFIZZRE 7

2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021

B2IAT
29 6 6 8 6 5 6 6
SKI&E 7 7 8 6 7 9 6 8
EE 2o 7 7 6 8 8+8
ERSE | BLED 9 9 7 9 5 7 9 7
17728 6
wrat | BB 6 6 6 7 7 7 5+6 8 6 7
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DSE 2012 - 2021 Z &} 2AP9E1Z:R B 0

AR RE 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021
6 9 6 8 8 5 6

Fo737% | bR IR 3

%= | FEEE 13 13 4 5 5 4 5 6 5 7

—ABER 8 8 7 13 6 13 7 7 12 7

BlRItIAR 1 FH 0 7 12 12 7+7 7 9
HEE IR 3 4

MRS 8 5

HPIBEIAES IR 4 4 13 4 3 6 3 3 5 4

wat 3 4 4 3
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DSE 2012 - 2021E 1R 2 70 (I F S

2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021

BEANE 47

EE - B

70 Ry 41 32 32 39 40 37 41 42 43 40

B RIE 17 19 22 18 18 17 17 16 16 16

2R
E—T R

1

6

11
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[DSE 2012 - 2021 %—%}E?rﬁ*ﬁ}

DSE 2012 - 2021 %R @ 0 (29 - §F)

2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021
o 35 39 35 33 39 33 49 36 27 41

2l

il
+

70 66 70 72 66 72 56 69 /8 64

12
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DSE 2012 - 2021 fREE N 1h

2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021

paR=i 4=
No. of 10 4 9 7 7 5 6 5 6 8
parts

AN
Ay

Total 24 19 29 19 24 12 18 15 21 18
marks
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

E£1%E 39)

Simplify (a3 (a2 %)° and express your answer with positive indices.

_______________________________________________________________________________________________________________________________________________________

("))
:(aﬂs)(a—loﬂZO) (ah)k _a™ o (ab)' _ab' 1M
=051_10,B3+20 Cqu :Cp+q & d—r :d_lr 1M
B A SRR H e

’ HEEEAE
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(@ ... -
x=35 -

(b) fm x=5 fRA y=xi-3x
y="5-3(5) ™
e 1A

BRPICR :

https://www.hkeaa.edu.hk/tc/HKDSE/assessment/subject_information/category a_subjects/math/or/PowerPoint. MATH 2011.html
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https://www.hkeaa.edu.hk/tc/HKDSE/assessment/subject_information/category_a_subjects/math/or/PowerPoint_MATH_2011.html

eSS — Bl

S E T~
(a) LN ] 1M (a) LN 1 M
x=35 1A x=5 1A
(b) im x=5 KA y=x2-3x
(b) y=5*-3(5) |IM
y=5-3() M
y=10 1A
y=10 1A
e
https://www.hkeaa.edu.hk/tc/HKDSE/assessment/subject_information/category a_subjects/math/or/PowerPoint. MATH 2011.html 16
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(a) ...
x=17
(b) y=7"-3(7)

® "M, "AL n?

WK
(@) ... .
x=5 -

(b) fm x=5 fRA y=xi-3x

y=5-3(5) .
e 1A

BRPICR :

https://www.hkeaa.edu.hk/tc/HKDSE/assessment/subject_information/category a_subjects/math/or/PowerPoint. MATH 2011.html
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_ NI TH TE RS 27
x=35 1A x=—72 e IR T EAEE R
(b) fm x=5 fRA y=x?-3x . 1J52~20A
() y=(2)*=3( =y xen
y=52-3(5) M -
=10 0A
y=10 1A J
BRI -
https://www.hkeaa.edu.hk/tc/HKDSE/assessment/subject_information/category a_subjects/math/or/PowerPoint. MATH 2011.html 18

DSE 3t 58 9} iff 48 L35 2021 — AR 5 —

OXFORD

UNIVERSITY PRESS


https://www.hkeaa.edu.hk/tc/HKDSE/assessment/subject_information/category_a_subjects/math/or/PowerPoint_MATH_2011.html

[DSE 2021 {E Bl =& ﬁ*ﬁ}

% 3 (39)

Factorize g EiisEER ¢ A
(@) 6x2 + xy — 2y?, (b) 8x — 4y — 6X2 — Xy + 2y2. 1. (2x—-1)(3x +2)
2. (x+ 2)(x- %)
(a) 6%+ Xy — 2y? = (2x — Y)(3X + 2y) 1A
(b) 8x — 4y — 6x% — Xy + 2y?
= 4(2x —y) — (6X° + Xy — 2y?)
= 4(2x - y) — (2x — Y)(3x + 2y) IM &5FIH (a) BFRVEGER
= (2x=y)[4 - (3 +2y)] - | tnchEst | -

= (2x — y)(4 — 3x — 2y) 1A AR -
\ (2X —y)(4 — 3x + 2y) 19

DSE 312531 40 L 38 2021 — M55 B— 'OXFORD

UNIVERSITY PRESS



[DSE 2021 {E Bl =& ﬁ*ﬁ}

5% (477) X y

The number of stickers owned by a[boy|is 3 times that owned by a|girlf If the boy gives
20 of his stickers to the girl, then the number of stickers owned by the girl is 2 times that
owned by the boy. Find the total number of stlckers owned by the boy and the girl.

———————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————

Hk 1

st x Ky Rl RBERZAERES

HYREEREH - %i ﬁﬁz
x=3y

{2(x—20):y+20 & &

x=36 % y=12 X —20 y+20|
o AGRAVEREL =48 '
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5% (477) 3K K

The number of stickers owned by a bogi Is 3 times that owned by a If the boy gives
20 of his stickers to the girl, then the number of stickers owned by the girl is 2 times that
owned by the boy. Find the total number of stlckers owned by the boy and the girl.

———————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————

[DSE 2021 {E Rl &

Jk 1 k2
=X I By BB AR RO 20 A 4 kR ARG ’ s e
< x My Rl RS AL %jﬁ%ﬁa L g | X R AR AR RSARE H 3K K
HYREARE H - X
3 y 2(3k - 20) =k + 20 & &
x=3y
{2(x—20)=y+20 @ & =12 3k —20 k+20

x=36 & y=12
RESIAYSRE = 48
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[DSE 2021 &5l zE ﬁ*ﬁ}

% 8% (57)

In the figure, AB produced

and CD produced meet at A
the point E. It is given that . /CAE = Z/BDE /D\li\
E

(a) Prove that AACE ~ ADBE.

@ {E AACE F1_ADBE -

LCHE=ZBBE  (e%)

LAEC = ZDEB (I~ A)
NACE ~ NDBE  (444)

___________________________________________________________________________________________________________
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% 8% (57)

In the figure, AB produced and CD produced meet at 4 \
the point E. It is given that ZCAE = ZBDE. B 60
25 \
(b) It is given that]AC = 25 cm, AE = 60 cm, CE = 65 cm and BD = 15 cm | 15
(i) Is AACE a right-angled triangle? Explain your answer. C D E
(i) Find the area of ABDE. . 65 >
(o )
' =952 + 602 AL EEER:
(b)(1) AC?* + AE?=25+60 ACZ + AE2 = CE2
=4 225 252 + 602 = 652
=652 4225 = 4225
- R +.£CAE = 90° (SR T B 1 )
K'-AACE EEHA=ZAE - Y

NACE ZHA=FA -
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

% 8% (57)

In the figure, AB produced and CD produced meet at 4 \
the point E. It is given that ZCAE = ZBDE. B 60
25 \
(b) It is given that|AC = 25 cm, AE = 60 cm, CE = 65 cm and BD = 15 cm | 15
(i) Is AACE a right-angled triangle? Explain your answer. C D E
(i) Find the area of ABDE. . 65 >
.. 15
(b)(11) DE =60 x 75 = 36
/A\BDE [ifif&
1
=5 X 36 x 15
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

%958 AN =
598 (59 (B E-> o i)

If a student is randomly selected from the group, then the probability that

the selected student reads fewer than 26 books in the year is 11
(b) Write down the range, the IQR and the s.d. of the distribution.
Teaching Resaqurce Centre

¢

ety e

-I Il?tnuall.r .
15904599511 |

X \

BN

. ‘ MAadsy ,\ ¢ Lo . gocoT
\‘ o /. '\_‘,\_\ﬁ‘ - \ ' ’\\;:77 vrl‘\‘;l‘r';‘h e . , o, _ ” B , <. P D _LE’ , N AY

Multimedia Resources Lesson Companion Preparation Toolbox Continuous A i Additional Resources

- 4 i O
Preparation Toolbox : Calculator Programs e E{ﬂ: | E[—-

Teaching Plan

Books: | Book4A | I Book4B | Book5B TR A BE O T]%l‘%j\z! | I*@;E;lé
“ 7N [T
chiaptees SR Exziiiocs Wurd Filas
Calculator Programs m m |

Amendment List
The following are the latest updated resources
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

F1E (T7)

The table below shows the distribution of the numbers of
tokens got by a group of children in a game.

____________________________________________________________

PEEL TR

No. of tokens got 1 2 3 4 5 6 7 %
i :
No. of children 15 9 2 5 4 2 5 5 %}E\ﬁ& ’ 42
fE_ S, RS
(a) Find the mean of the distribution. (2 marks) ﬂj j££* TiK ’ ﬁ:jjz

(b) Are the median and the mode of the distribution equal? .... (2 marks) | FE1 /- 77 H
(c) If n more children play the game and each of them gets 5 tokens, ’ %——‘Tﬁéﬁjuﬁﬁ“;&}%

- 7% > mean ~ median -
(i) the value of n such that the mean ... g sz |
(i) the least value of n such that the median ... g modae E@Q’ft

(ii)) the greatest value of n such that the mode ..

|(3 marks)l (C)%g%gﬁ/}\ )
- HEEK

DSE 3t 58 9} iff 48 L35 2021 — AR 5 — OXFORD
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

F11E (77D)

No. of tokens got 1 2 3 4 5 6 7

No. of children 15 9 2 5 4 2 5

(c) If n more children play the game and each of them gets 5 tokens, write down

(©)(1) o
| 3ka2+5n 1 (a) B4R
424 n JFRAREEE 8 ¢ 3
n=42

i 27

DSE 3t 58 9} iff 48 L35 2021 — AR 5 — OXFORD
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

F11E (77D)

No. of tokens got 1 2 3 4 5 6 7

No. of children 15 9 2 5 4 2 5

(c) If n more children play the game and each of them gets 5 tokens, write down

(©)(ii) = Mcjﬁzggz . 2

1...1222222‘222334444455556677777

HTEV L B AL iy /e =4 NN |
1..1222222233444445..555556677777 || 4+4+n+2+5 = 26 {[&EE
15+9+2 = 26(@E#; (=4 LoniyE/ME = 11 |

DSE S84} il 48 28 [E 2021 — A EERS 55— OXFORD
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

F11E (77D)

No. of tokens got 1 2 3 4 5 6 7

No. of children 15 9 2 5 4 2 5

(c) If n more children play the game and each of them gets 5 tokens, write down

No. of tokens got 1 2 3 4 5 6 7

No. of children 15 9 2 5 4 I 2 5

FARAE 1

‘5" 2% H A DUHER 142K
S NEVEZARAE = 10

i . 29
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[DSE 2021 &5l zE ﬁ*ﬁ}

F128 (779)

—————————————————————————————————————————————————————————

The polynomial [p(x) is divisible by x — 5.JWhen p(x) is divided by X+ X+ 1, \}_’r/L—: %_:;E |§$7£%ﬁ
: _‘ [ I\ 1~

the quotient and the remainder are 2x*— 37 and cx + ¢ — 1 respectively, .... (Tﬁ%ﬂ)
@) Find ¢ @marks) ot 7 B 4 P A
(b) Prove that|x + 3 is a factor of p(x). (1 mark) ::K% Iﬁfﬁ[ﬁ/\j IK//TE fﬁ
(c) ...claims that all the roots pf the equation p(x) = O arg real humbers. ... Y s

(3 markS) | j< EEIEEE

ST AR - B

A B

DSE St 58 )i 40 L SB[ 2021 — B 55— OXFORD
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

F128 (779)

The polynomial p(x) is divisible by x —25. When p(x) is divided by X+ X + 1,
the quotient and the remainder are 2x™ — 37 and cx + ¢ — 1 respectively, ....
(a) Find c.

——————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————

(a) p(x):(x2+x+1)(2x2—37)+(cx+c—1) 1M
p(5)=0 —

(52+5+1)[2(5)2—37}+[(5)c+c—1]=0 _ |7 Either one IM

c=-67 1A

DSE 3t 58 9} iff 48 L35 2021 — AR 5 — OXFORD
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

(b) Prove that x + 3 is a factor of p(x).
(c) ...claims that all the roots of the equation p(x) = 0 are real numbers. Is the claim correct? ...

3k=-105,k=-35

= (x* +x+1)(2x* —37)+(=67x —68)

104x-105 1k+ (2)(3)=2,k=-4
B (e 1k + (3)(— 4) = — 35, k =—23
x+3)(x-5)(2x*+6x+7) 1M

p(x)=0
Xx+3=0 or x-5=0 or 2x°+6x+7=0
x=-3 or x=5 or|A=(6)"-4(2)(7)=-20<0|{1M

. 2x? +6Xx+7 =0 has not real roots and hence the claim is not correct. 1A f.t.

DSE St 88 53 i 48 L35/ 2021 — BB B— OXFORD
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

%13 & (77)

Circle C: x° + y2 —12x—-16y—-69 =0 e |B E*%%Bﬁhﬁﬂ]‘

G: centre of C

. ! K. ¢k HEHH
O: origin i JE AN EE. E

i /3 == [ e I
(a) Find OG._ o | (2 marks) e g =~ HAT
(b) Does O lie inside C? Explain your answer. (1 mark) S S T
(c) Let P be a moving point in the rectangular coordinate plane ég ~F &8 R

such that OP = GP. Denote the locus of P by I". Suppose that 5
I"cuts C at the points M and N. Find the area of the quadrilateral OMGN. : (a) %D (b) iziB
' |

(4 marks) N
- hEER
+ (b) HEEOG
PR
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

£13E (77D)

(c) Let P be a moving point in the rectangular coordinate
plane such that OP = GP. Denote the locus of P by I
Suppose that /" cuts C at the points M and N. Find the
area of the quadrilateral OMGN.

. EHERHMAINA AL
-+ HBIOMGNEZ ﬁ@%%mﬂl

N Y A =

8 [T A R Y B M

. SRR € > (LB

012%182022
N

DSE 3t 58 9} iff 48 L35 2021 — AR 5 — OXFORD
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

F15#8 (47)

A random queue: 7 teachers and 3 students %’Fﬁﬂ/@iéﬁé\
(a) How many different queues can be formed? (1 mark) Sp MIZ [ e
(b) Find the prob. that no students are next to each other... (3 marks) ET& ’ 7[:@%3[‘@\

i

DSE 3t 58 9} iff 48 L35 2021 — AR 5 — OXFORD
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[DSE 2021 {El 5l ﬁ:\tﬁ}
BB N GHEESRPREG

The straight lines L, and L, are Iaerpendlcular to each otherl The y mtercept of

L, is 3. Itis given that L, and L, i

region (including the boundary)

(a) It is given that R represents the solution 0 a system o mequa ities. Find the
system of inequalities.

(b) Find the least value of 8x — 5y, where (X, y) is a point lying in R.

ZE[H] > B AR PR AR Y

DSE St 88 53 i 48 L35/ 2021 — BB B— OXFORD
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[DSE 2021 {E Rl &

YN

# |

F£168E (57)
(a) 0 A gHaR:
« iHJHY =0
e 3X—2y<-06
o Z%EIx20

(b) HEYIZRI =

Lz2x+3y:§h

10
9

[os]

HF

3x-2y=-6

7
(2, 6)
6
5 N
S 8z — 5y = 8(3.33) — 5(2.18) = 15.78
(0, 5:’3) .
4 b
2 0/( 1 (3133,2.18) W\
y=0 | (11, 0)

X y 8X — 3y

-2 0 — 16 Minimum
2 6 - 14

11 0 88 Maximum

-6 5 4 -3 /2 10
=1
)

1 2 3 4 5 6

7 8 9 10 11N\J2 13 14 15 16 17

[8x _ 5y F/ME R -16]

DSE 3t 58 9} iff 48 L35 2021 — AR 5 — OXFORD
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

£ 17 & (77)

Let A(n) be the nth term of an arithmetic sequence. It is given that A(5) = 26
and A(12) = 61.
(a) Find A(1).
(b) Suppose that log, G(n) = A(n) for any positive integer n.
Find the greatest value of k such that logg(G(1)G(2)G(3)...G(k)) < 999.

-+ T4E(2015) M4 HERAE (DL R

o AEHEREAR mggG(H)zloing(Sm

L3-S DSE siR8 il 48 L8R 2021 — A Babn &— OXFORD



[DSE 2021 {& Rl =8 ﬁ*ﬁ}
FI7TE  (77)
log, (G (1)G(2)..G(k)) <999
0 (GOCE-C1) gog 10 s
log, (G(1)G(2)..G(k)) <2997
log, G (1) +log, G (2)+...+log, G (k) <2997 1M EfHE A E
A()+A(2)+..A(k) <2997 log AB =log A + log B

OO gy M FrRAIAR
5k? + 7k —5994 < 0
777 —4(5)(~-5994) ~7+,J7 ~4(5)(-5994) IM — Rt

<k<

2(5) 2(5) ) 39

DSE 3% 38 5}l 48 38/ 2021 — A ESRSH B —




[DSE 2021 {E Bl =& ﬁ*ﬁ}

F£18&E (7T7)
(a) AD /I BC, AB =45 cm, ZADC = 70° and ZBAD = 50° . Find CD.
P

50° ‘ e

aR 700

\__
/I

¢ (@) HiF .
o REEIEES

SEEH

45

DSE 3t 58 9} iff 48 L35 2021 — AR 5 — OXFORD
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

F18&E (7T7)

(b) BE L. AD, AE 1 plane BCDE and BC =40 cm.
(i) Find £CAD. (i) Angle between the plane ACD and the plane BCDE exceeds 30°?

' ® A¥A 52,18 =EAs E
i (b) nﬁ_g&ijz% /NEIEI’] , o8 Go5anoassg  52.5467818939
- HA=APKRHEE - _ D

| =57
y H#?Lqﬂ/j 4"[’%#
BT L
T E RN

. EWEETAGE ,
M EERTR |
TP A ;

| 34.4719999404

36.6843361093

41
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[DSE 2021 1B Rl & ﬁ*ﬁ}

- THRAENEEEDN
A= 0=l

. AR

59.9820432089

A
—t _A_:

= al

- EEIME  FEE

} LB I 1

an-2:C508) DSE 3t 38 il A L58ME 2021 — 225890 &— OXFORD
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[DSE 2021 {E Bl =& ﬁ*ﬁ}

F£198 (12%9)

Let f(X) = x2 — 12kx — 14x + 36k? + 89k + 53, where k is a positive constant. On the same
rectangular coordinate system, denote the vertex of the graph of y = f(x) and the vertex of

the graph of y = f(14 — x) by Q and R respectively.

(a) Using the method of completing the square, express, in terms of k, the coordinates of Q.

@ X% 12kx — 14x + 36k? + 89k + 53

= X2 — (6K + 7)x + 36k2 + 89K + 53

DSE st S8 Nl A L8 2021 — B H &— OXFORD




[DSE 2021 {E Bl =& ﬁ*ﬁ}

F£198 (12%9)

Let f(X) = x2 — 12kx — 14x + 36k? + 89k + 53, where k is a positive constant. On the same

rectangular coordinate system, denote the vertex of the graph of y = f(x) and the vertex of
the graph ofly =f(14 — x) Iay Q and R respectively.

(b) Write down, in terms of k, the coordinates of R.

y = f(=x) > Bl y S

o HHIR2 s > A e ) y = f(x +14) > [E]{5 [ /2R 1445
S y = f(—x+14) > &Iy il f2 5T
TN [ T% 1A%

=(6k+7,5k+4), R=(—(6k+7)+14,5k +4) = (7 — 6k , 5k + 4)

=f(x) f1y =f(14 — xX) EFENFEEHLHE X =7 ° Ty TR 7 45
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F£198 (12%9)

Let f(X) = x2 — 12kx — 14x + 36k? + 89k + 53, where k is a positive constant. On the same
rectangular coordinate system, denote the vertex of the graph of y = f(x) and the vertex of
the graph of y = f(14 — x) by Q and R respectively.

(c) The point S: (7, 4 — 3k), C : the inscribed circle of AQRS.
(i) Express, in terms of k, the equation of the straight line which passes through Q and S.

(i)  Express, in terms of k, the equation of C.
(i) Suppose that QS is the tangent to C at the point T. Let U be the centre of C. It is

given that the coordinates of the point V are (29 , —14). Is it possible that STUV is
a rectangle? Explain your answer.
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FI198 (129)

(©)() HSFIQ v i \
=5 e . ;
(O {81732 B
B AT 772 :
LT
%%E —70 60 -50 40 -30 -20 —1?12 10 20 30 40 50 60 70 80
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£198 (127)

) \ v 6k 6k \/
(C)(i) £4faT J73%: 0 - |
e |
i
(0.5)12kr +(0.5)10kr +(0.5)10kr i 8K
= 0.5(12k)(8k | 20
(12k)(8K) 10k Q/JN 10k
S r=3k
—/0 60 -50 40 -30 -20 10 0O 1020 30 40 50 60 70 80
—-10
-20 J'S .8
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Cut off (£ %)

- 2020 | 2019 | 2018 | 2017 | 2016 | 2015 | 2014 | 2013 | 2012 | 9

** 94% 90% 90% 93% 92% 93% 92% 89% 89% 91.3%

5* 87% 84% 83% 87% 86% 87% 87% 81% 82% 84.9%

5 79% 76% 17% 82% 78% 80% 79% 74% 9%  78.2%

62% 65% 63% 67% 66% 65% 65% 61% 67% 64.6%

61% 53% 52% 55% 59% 52% 50% 52% 58% 54.7%

ERAR ¢ 1.
2.
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http://dse00.blogspot.com/p/core-cutoff.html
https://www.notesity.hk/blog/posts/dse-maths-compulsory-part-cut-off-score
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%ﬂ?ﬁg&n Performance in General
1 Very good. About 90% of the candidates were able to ...... E|E| Ii:IB (1) 5F|:|
2 Very good. Over 80% of the candidates were able to ...... BRI (Z)E 1-2 78
4 (a) Very good. Most candidates were able to ......
10 () Good. Many candidates were able to ...... é}
12 () Fair. Many candidates were unable to ......

2 3Ll E WEX Tvery good s A "good 1 HITEN

R B "very good s A "good s K7 BISH -
4L m iy e, 05
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DSE 8517

HN - TGS EREEUR  EHOEER

1. DSE 2012-2020.......

a) 2% Cut off B EXRWAA

b) ZE RSN - FRAOEEERE - WHlxE @A K
c) KIS HEEBATF  FHOIEREO

d) REZ—(EEE??

DSE 2021 & 5= H 724 (Part 1)

DSE 2012-2021 &_ #ar2 (0 - #HE - 8%F)
DSE 2021 & k=& H 72 (Part 2)
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1a) $% Cut off EHEMAE |
Cut off B R(IEHSZ)

- 2020 | 2019 | 2018 | 2017 | 2016 | 2015 | 2014 | 2013 | 2012 | Fi9% | ZHEH
42

** 94% 90% 90% 93% 92% 93% 92% 89% 89% 91.3%

5* 87% 84% 83% 87% 86% 87% 87% 81% 82% 84.9% 39
5 79% 76% 17% 82% 78% 80% 79% 74% 9% | 78.2% 36
4 62% 65% 63% 67% 66% 65% 65% 61% 67% |64.6% 30
3 49% 53% 52% 55% 59% 52% 50% 52% 58% |53.3% 25

BEREE ¢ 1. http://dse00.blogspot.com/p/core-cutoff.html
2. https://www.notesity.hk/blog/posts/dse-maths-compulsory-part-cut-off-score

B1R (BHER) = (= ifa E)
Z ZH | HEER
~ 13 ~ 42 ~2 ~3

~ 28 ~11 ~ 39 ~4 ~6
~ 27 ~9 ~ 36 ~6 ~9

~ 30
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ZHR (

2P, 458)

42012 | 2013 | 2014 | 2015 | 2016 2017 | 2018 | 2019 | 2020 | __
| |80-100%|| 4 3 5 7 9 6 3 6 a | =
Il |50-79% 26 21 25 25 21 24 19 26 19 | o
11 |30-49% 15 17 12 10 15 13 17 11 19 N
IV |0-29% 0 4 3 3 0 2 6 2 3 B
EHHIR (Eﬁ :IZIZB 307&)

2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020
| [80-100% 4 3 5 7 9 6 3 6 4
Il [50-79% 19 17 18 18 16 17 15 21 15
[l |30-49% 7 9 5 4 5 6 9 1 11
IV |0-29% 0 1 2 1 0 1 3 2 0
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2012|2013 2014] 2015 2016 2017] 2018] 2019 2020]
04 | 69 | 94 | 90 47| 89| 71| 67 | 76
74 81 | 79| 93 81| 72| 80| B8 | 85
80
74

50| 85 | 63 | B4 65 00 | 89 wj_"ﬁ;;ﬂ
75| 75| 67| 75 87 69 | 85 %E ZK)@
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920

78| 40 | T3 65 80| 8T | 61 | 75 | 63
73
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1b) 3

TN
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TRRALGER R - 1

15152 B A B

ZHE (RS, 4588)
2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020
| |80-100% | 4 3 7 9 6 3 6 4
Il |50-79% 26 21 25 25 21 24 19 26 19
Il |30-49% 15 17 12 10 15 13 17 11 19
IV |0-29% 0 4 3 0 2 6 2 3
BHR 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020
27 | |80-100% | 4 3 5 7 9 6 3 6 4
(Eﬁ I:IB, 302) [II_|50-79% 19 17 18 18 16 17 15 21 15
11 |30-49% 7 9 5 4 5 6 9 1 11 é}%
IV [0-29% 0 1 2 1 0 1 3 2 0 365
Wt SR 2012 | 2013 | 2014 | 2015 [ 2016 | 2017 | 2018 | 2019 | 2020 | DM
| 80-100% 0 0 0 0 0 0 0 0 0
Z B || 50-79% 7 4 7 7 5 7 4 5 a |4-7:&
(C9 AP, 1528)1730.40% | 8 8 7 6 | 10 | 7 g | 10 | 8
IV |0-29% 0 3 1 2 0 1 3 0 3 62

OXFORD
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1b) EHEH - BAOKER - DHEEARE

2012 | 2013] 2014] 2015f 2016/ 2017| 2018 2019] 2020}
____________________________________________________________ %6056 42|45 0037 53] 40 68 | 52
The H.C.F. and L.C.M. of three expressions are 27§50 | 68| 76| 48 56| 30| 43| 56| 50
x2y2z and x3y4z° respectively. If the first expression 26959 | 80| 72 84958 | 84) 50| 06 54
and the second expression are x3y?z2 and x3y3z° 29071 | ST Y 09 | 70 | T8 gy GO

: : o ol |sa|n|ase[ 5143 78] 40
respectively, then the third expression is 3

55

_________________________________________ G243 40 | 41| 30 Q40| 50| 34| 35| 40
E 14 x 165 + 17 x 1624 + 162 + 17 3004 | 64 | 54| 06 43| 53 3| 61| 40
B e 34049 | 20 | 49| 63 Q35| 41| 35| 46 | 48
35455 | 46 | 50| S1 Q47| 45 40| 53| 33
6437|600 | 45| 43 Q35| 66 49 | 41 | 34
________________________________________________ TR 43 | 46 | 60| 2T R 46 | 45| 44 | 31 | #2
2 %2 PN SEQ 63| 47 | 40| 3T Q49| 49| 41| 35| 20
L 9 _2_?_?)_0_ _ _4_%_4_5_ - ‘l‘}_ﬁ_'j_—_w _)I;_E%f?f_/_ ﬁ%?y _’_ﬁ_%% _______ 5ol 53|20 28| 4900 35| 34| 28| 40| 28
A0 30| 21 | 33| S1g38| 62 20| 38| 23
AL Q47| 30 | 43| 43045 21| 35| 44| 33
A2 0 36 | 37 | 43| 3055 71| 51| 65| 61
A3 52| M | 67| 5151 50 26| 47| 56
44 4 56 | 64 | 57| 529 52| 78| 78| T2 | 45

AS | 36| 37 | 57| 26 50| 48| 51 | 56 | 50 63
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20-21 6C Mathematics Study Schedule

DATE | Contents | Year Section Level 2 Level 3-4 Level 5 No.
2013 | Al Al (except 73,8b,9b) 7a,8b,9b 1
MC 31-45 MC 31-45 (except MC 32,3442 MC 37,35,40,43
32,34,37,39,40,42,43)
2014 | Al Al (except 8b,9a) 8b,9a 2
MC 31-45 MC 31-45 (except 32,39,40,41) 32,39 MC 40,41
5013 2013 | A2 A2 (except 10bii,12b,13aii,14b,13b) 10bii, 12b,13aii,14b 13b 3
FEB E MC 1-10 MC 1-10
10-11 2014 | A2 A2 (except 10c, 12biii, 13b,14b) 10c,12biii,13b,14b 4
1621 2014 MC 1-10 MC 1-10
P12 2013 | MC 11-30 | MC 11-30 (except 16,18) MC 16,18 5
B 15,16
2014 | MC 11-30 | MC 11-30 (except 11,17,21) MC11,17,21 B
B 16
2013 | B 2013: 173, 182 2013: 17b,18bi 2013: 18bii, 19 7
2014 (B 2014: 173,183,192 2014 19bi 2014.
15,17b,18b, 19bii,biii

iy

k&%T DSE H
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ARG A TE
A\ DREES K Bz
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T : 9 cm?
A A f i
b, b, l i 12 cm
P 4 P 3k
/q\ , ' [ 41 BD:DC=4:3
1 I

A 4k B

B4 AB:CD=4:1

: 1| E41 @) ABCE 2{FIUIEK | | 5k BCDF fy
| 32 cm? | b)ED:DC=5:3 HIfE
2. BREL=AF! i c) AAEF [y = 80 cm?
. E 2cm? |
! | 80 + 128 = 50 + x
i D « C | x = 158
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[DSE 2021 ERIFEHE 72 ¥ (Part 1)}

524 8

_ AB
In the figure, —— =
CD

A. co0s @ sin ¢.
B. sin 8 cos ¢.
C. tan 6 cos ¢.
D

. tan @ sin ¢.

i
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[DSE 2021 ERIREHE 72 ¥ (Part 1)}

% 25 &
The coordinates of the points M and N are (5, 7) and (6, 8)
respectively. Let P be a moving point in the rectangular

coordinate plane such thatjPM = MN] Find the equation of the N\
locus of P.
. 1217 )

d <

B
C. xX2+y?2-10x—-14y+72=0
D. x2+y2—-12x—-16y+98=0 J&x =52+ (y —7)2

e
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[DSE 2021 ERIREHE 72 ¥ (Part 1)}

3 26 =2
The coordinates of the points A, B and C are (3, 3), (5, 8) and
(9, 2) respectively. Let P be a point such that AP is a median y
of AABC. Find the equation of the straight line which passes B
through A and P.
A. X 3=0 P
B. 2} 1=0 P =(7.5) A
C. 2 3=0 S / c
-3 5-3 f *X
D 3wmy=I5=0  Y~3_>°73 0
= | 4

L= TTCISE DSE st 28 il (A L38 R 2021 — A EBHD B OXFORD



[DSE 2021 ERIFEHE 72 ¥ (Part 1)}

% 41

Let O be the origin. The coordinates of the point P are (26 , —18).

of the orthocentre of AOPQ are (21 , —3), then

04 1 PQ PO 1 QA
' -3 y+18 —18 y+3 _

C. 10. 1 x26 - L 6 x—21 . 1
o o
D. 30. ® PY
o o
o o

y G

orthocentre

DSE st 58 9 il A 58 2021 — HEHH B
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[DSE 2021 ERIREHE 72 ¥ (Part 1)}

5 44 BB

In an examination, the lon scores isj45 marksjA boy gets|25 marks|in
the examination and hig standard score is —5] If the standard s ' e examination

IS 7, then her examination score IS

38 3
A. 4 marks. .
M7= 20 437 =5 S.D.

B. 53 marks. |
C. 72 marks. w >SD.= 475 : i |
D. 80 marks. ~ D =45+ 7(4) 534%534%5

/ . .

A 22 : : | : l x
ﬁ x— 3Gx 20 x—0 x xX+0 x+20x+30
l<— 68% —>1
fe— 95% ——>|
< 99.7% > 21
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[DSE 2012-2021 & #&ts \Jr)ﬂ

TS 2]

BB 8 8 8 7 6 7 7 6 7 6
EE - -BEEZER S 12 12 12 12 13 14 14 13 14 13
B 4 5 4 5 5 4 4 5 4 5
BRI el 4 5 4 4 3 3 3 3 3 3
B 3 2 3 3 4 4 4 4 4 4

SEEL - 20
EBE - BEZER : 18
IERIE ; 7
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[DSE 2012-2021 &_ ,ﬁ?rﬁff)ﬂ

Fh ~ SHRE-ER 7

A R 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 2021
18 18 19 21 18 18 18 19 19

)P iR EE ¥ 19
OB 1 1 1 1 1 1 0 2 1 2
= HaRRE B 11 12 12 11 9 12 12 12 11 11
ZE 14 14 14 14 14 14 15 13 14 13

e e

]
L

{ }( 73
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DSE 2012-2021 &_ it nth 238 (AR B A& BI)

_ }E%ZEE@ 1

FIEEHR 2 2 3 2 5 2 2
EXHR - REEST 2 3 2 1 3 1 3,4 1 3,4 3,4
SEEay 3 8 3 5 8 4 7

[ AVSE =S 5 8 3 5 3

B - A ERRE 6 4 7 8 6 7 8 5 7
E &= ERER EE 4 9 6 7 8 9 6 8
El - xkFEH 7 5 6,7 6 7 5 13 7 13 10
EB _czEnEeS 6 7 5 8 9 9 5 10 14
|10 Epa 8 10, 11 9,10 9,10 10 10 9 11 9,15 9
EREE 9,11 12 12 11 11,13 11 10 12 10 6,11
g5 10 13 13 12 12 12 11 13 11 12
RERGE 13, 14 4 11 4,14 4 4 14 6 14 5
215 12 14 13 14 13 12 14 12 13
TEHEFNEEIRE 15 15 15 16 14, 19 20 19 21 20
B EE 16, 21 16 19 17 17
HBUEF 17 18 17 17 20 16 16 16 18 hidden20
Ki&E 17 16 18 15 15 15 16 15, 16
=] 18,19 22,23 18, 19 18, 19 21 22 21 22 24
LT 16 15,17 17,18,20 18,19  17,18,20 17,19,20 18,1921
EfHE 20 19 20, 21 20, 21 22 21 22 21 22 22
ES VST 22 15, 21 22 22 23,24 23

Ell 2 ERAM 23 20 23 23 25 24 25 23,24 23
(24 R 24 24 24 24 27 25 26 25 25
E E5EE 25 14 25 25 23 6 23 8

E =557 25, 26 24 26 24 26 26
(27 ek 26 25 26 26 27 26 27 27 27 27
Ell 7= 27,28 26 27 27,28 28, 29 28 28 28 28

Ell 7:tEx 29 28, 29, 30 29 30 29 29 30 29 29 28, 29
El =44t 30 27 30 30 30 30 30 74
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[DSE 2012-2021 &_ Jﬁ%ﬂﬂ)ﬂ

HIRIARIA S

T BEHIRER
1 1EEER 1
2  FIEEIR 0.7
3 EXn#E- - EREAS 1.3
4 HEI 0.7
5 BiRiE 0.5 -
6 —IJ_RAZEMNKE 0.9
7 BRIIEEAERXECHE 0.8
8 —I—RAER 1.1
9 _REREMWEE 0.9
10 AD¥ 1.4
11 ERKEE 1.3
12 &5 1
13 BREAME 1.2 A+
14 #3 0.9
15 YHEFHNEEZRE 1
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[DSE 2012-2021 & #&ts \Jr)ﬂ

tljf,%bFE REAZET
16 ﬁﬁ/ﬁ*ﬁ
17  HAUUEH 0.9 ok
18 K&EE 0.9
19 —/@/E 1.3 x
20 EAEZ{ 1.7 4+
21 [EmWHE 1.2 4+
22 ZEFRKBEFEiL 0.6
23 MERFA 1 4+
24  EAER 0.9 4+
25 EBEHREEZ 0.8 4+
26 E&HRAHi= 0.7 4+ +
27 ElRiE 1 4+
28 M= 1.2
29 #HETEER 1.3
30 EAXRFE 1
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DSE 2012-2021 &_ #st 95

A &R

+E (E

i 3R S8 2R

<0.7)

2012 2013 2014 2015 2016 2017 2018 2019 2020 2021

_ ?a%ﬂfﬁ&

FIEEIG 2

EX iR - BEARSH 2 3 2
SEa 3 8 3
L AVSE 5 8
P B RREH 6 4
E = kAN EE 4 9

(8 i 7 5 6,7
E _rREEE 6 7 5
B 8 10, 11 9,10
ERb 9,11 12 12
B 10 13 13
RERME 13, 14 4 11
5 12 14
TEHEMNEELEE 15 15
B EE 16,21 16

GERDYE i 17 18 17
KI&EE 17

=<1 18,19 22,23 18, 19
BRI 16
EElEd= 20 19 20, 21
LB RER & 22 15,21 22
AR 23 20 23
E78)] 24 24 24
E E5EE% 25 14 25
Ell =557

(27 WEREE 26 25 26
Ell = 27,28 26 27
Ell 7R 29 28, 29 30 29 30
(30 ez

~N w o e

o o

9,10
11
12

4,14
13
15

17
16
18, 19

20,21
22
23
24
25

26
27,28
29

30

w N

© N O 00 O

10
11, 13

14
16
19
20
18
21
15, 17
22
23, 24

25, 26
27
28, 29

30

2
3 2
1 3,4
8
6 7
7 8
5 13
S 5
10 9
11 10
12 11
4 14
13 12
14,19 20
17
16 16
15 15
22 21
17, 18, 20 18, 19
21 22
23
25 24
27 25
23 6
24 26
26 27
28 28
29 30
30

17,

5 2 2 ‘1|'k
1 3,4 3,4
4 7
3
8 5 7
9 6 8
7 13 10
10 14
11 9,15 9
12 10 6, 11
13 11 12
6 14 5
14 12 13
19 21 20
5 8

16 18 hidden20
15 16 15, 16
22 24
18,20 17,19,20 18,109,221
21 22 22
25 23,24 23 @
26 25 25
23 8
24 26 26
27 27 27
28 28
29 29 28, 29

30 30

77
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[DSE 2012-2021 &_ Jc?rﬁ*)ﬂ

3R SR SR8, DAY AR
1. 8%

2012 | 2013 | 2014 2015 2016 2017 2018 2019 2020 2021
- rEL%Tﬁc 3 8 3

DSE 2019 &__ 55 4 &8

If « and B are constants such that (x - 8)(x + @) — 6 = (x — 8)? + 3, then 8 =
A. -26.

B. -10.
C. -7.
D
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[DSE 2012-2021 &_ Jc?rﬁ*)ﬂ

3R S8 2R /D YRR R
2. H%Xifﬁ%

2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 2019 2020 | 2021
-HﬁZTﬂz 5 8 3 5

DSE 2012 5_ 5 5 &

fm+2n+6=2m-n=7,thenn =
A. —4.
B. —1.
C. 3.
D. 11.

DSE AN 43 380 2021 — HEEH B OXFORD

UNIVERSITY PFRESS



[DSE 2012-2021 & #&ts \Jr)ﬂ

3R S8 2R /D YRR R
3. BV HTE

2012 | 2013 | 2014 | 2015 2016 2017 2018 2019 | 2020 2021
Fuﬁﬂﬁﬁa 16,21 16

DSE 2013 & _ % 16 &2

In the figure, the diameter of the semicircle ABC is 3 cm.
If AC = 2 cm, find the area of the shaded region correct
to the nearest 0.01 cm?.

A. 0.23 cm?
B. 0.52 cm?
C. 0.64 cm?
D. 1.07 cm?

C
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[DSE 2012-2021 & #&ts \Jr)ﬂ

3R S8 2R /D YRR R

4. BB RER 21

| No. | iR 2012 | 2013 | 2014 | 2015 | 2016 | 2017/ 2018 2019 | 2020 | 2021
S EZ Y 22 15,21 22 22 23,24

Bl
DSE 2018 5 _ 55 23 8 DSE 2015 & _ 55 22 @8
The figure below consists of eight identical If an interior angle of a regular polygon is 5 times an
squares. The number of folds of rotational exterior angle of the polygon, which of the following
symmetry of the figure is Is/are true?
A. 2. |. Each interior angle of the polygon is 150°.
B. 4. ll. The number of diagonals of the polygon is 6.
C. 6. lIl. The number of folds of rotational symmetry of the
D. 8. polygon is 6.

A.lonly B.Illonly C.landlllonly D.Iland Il only 31
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[DSE 2012-2021 &_ ,,fn?rﬁff)ﬂ

IR B SRHEAER N
53%%#

2012 2013 2014 | 2015 2016 2017 | 2018 | 2019 | 2020 | 2021
-IIE 3 2 5 2 2

DSE 2021 &_ 52 &

If m(m —-a) =a(l -m),thena-=
A.m.
B. 2m.
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[DSE 2012-2021 &_ Jc?rﬁ*)ﬂ

3R SRR IBNNRYEREE

6. B HTE
2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021
BEMRE 25,26 24 26 24 26 26

DSE 2017 &_ % 24 &2

The straight line L is perpendicular to the straight line 9x — 5y + 45 = 0.
If the x-intercept of L is —3, then the equation of L is

A.5x +9y +15=0.
55618y +2720 2 A K E

D.9x -5y + 27 =0.
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DSE 2012-2021 &_ et 758 (F&EB - LIRAZER > 1.3)

_ B ER 1 2 2

(2 E3n 2 2 3 2 5 2 2
El E=5 % - RREESR 2 3 2 1 3 1 3,4 1 3,4 3,4
4 EESEES 3 8 3 5 8 4 7

(5 WA= 5 8 3 5 3

Bl - S5 ERRE 6 4 7 8 6 7 8 5 7
B =l cERREAEE 4 9 6 7 8 9 6 8
Ell - kFEH 7 5 6,7 6 7 5 13 7 13 10
E _cxEnEs 6 7 5 8 9 9 5 10 14
(10 EER 8 10, 11 9,10 9,10 10 10 9 11 9,15 9
(11 G 9,11 12 12 11 11, 13 11 10 12 10 6,11
= 10 13 13 12 12 12 11 13 11 12
R = rE 13, 14 4 11 4,14 4 4 14 6 14 5
2051 12 14 13 14 13 12 14 12 13
THEFNERESRE 15 15 15 16 14, 19 20 19 21 20
B EE 16, 21 16 19 17 17
BB 17 18 17 17 20 16 16 16 18 hidden20
Ki&E 17 16 18 15 15 15 16 15, 16
=1 18,19 22,23 18,19 18,19 21 22 21 22 24
BT 16 15,17  17,18,20 18,19  17,18,20 17,19,20 18,19, 21
EfEd= 20 19 20, 21 20, 21 22 21 22 21 22 22
LW REF EIR 22 15, 21 22 22 23,24 23

AER AL 23 20 23 23 25 24 25 23,24 23
BN 24 24 24 24 27 25 26 25 25
(25  EEEEE 25 14 25 25 23 6 23 8

(26 EEESE 25, 26 24 26 24 26 26
B &5 26 25 26 26 27 26 27 27 27 27
Ell = 27,28 26 27 27,28 28, 29 28 28 28 28

Rl #stE= 29 28, 29, 30 29 30 29 29 30 29 29 28, 29
El =45t 30 27 30 30 30 30 30 84
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1.3)

I
A\

DSE 2012-2021 £ S HHHME (P - LIRS

10 E=Ekar 8 10, 9,10 9,10 10 10 9 11 9,15 5
11
11 EI5iss 911 12 12 11 11, 11 10 12 10
- 6, 11
18 BREibn 17 16 18 15 15 15 16 15,
16
19 =R 18,19 22, 18, 18, 21 22 21 22 »
23 19 19
29 ElEES 29 28, 29, 29 29 30 29 29 -
29, 30 26
30

L= TTCISE DSE st 28 il (A L38 R 2021 — A EBHD B OXFORD



[DSE 2021 ERITEE 547 (Part 2)}

% 8 B8
When p(x) is divided by x + 1, the remainder is 2. If p(x) is divisible by x — 1,
find the remainder when p(x) is divided by x2 — 1.

Ax+1 p(x) = (x2=1)Q + R ZIE T IR EL

B.x-1 p(x) = (xz—l)Q + (ax + b) ]zfjﬁ\fh (divisor) >R
C.—x+1 p(—1) = —2 p(1) =0 o imimimimim e, ,
D.x-1 - PA = .
5 {—2 =—a+b : - rEzhquotient :
I O=a+b :Ftdivisor )k dividend -
—— T
g5= (remainder) = (ax + b)) =x —1 ' 827 remainder I
| |
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[DSE 2021 ERITEE 547 (Part 2)}

%11 &
2a+3 7 20+
If « and g are non-zero numbers such that at3p , then ath _
3a+2f 10 a+2p
A. 1.
B.~. HAEBEEEZL
c.2 X,Y, 2
6 a,b,c HARFE
13
D. Py
oA 2L NNBERLIFFTE
ﬁ sum of roots & product of roots
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[DSE 2021 ERITEE 547 (Part 2)}

% 13 &
In the figure, the 1st pattern consists of 3 dots. For any positive integer n,

the (n + 1)th pattern is formed by adding (2n + 3) dots to the nth pattern.
Find the number of dots in the 8th pattern.

¢ ﬂ 0:0 ﬂ 0o T
® © g0 oo X 34547
00 000 o
A. 63 o
o
B. 75 o
C. 80

3+5+7+9+11+13+15+ 17

D. 99 E i
88
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[DSE 2021 ERITEE 547 (Part 2)}

% 15 &
The base of a solid right prism is a regular 6-sided polygon of side 8 cm.

If the volume of the prism is 288 cm?, find the total surface area of the prism
correct to the nearest cm>.

A. 166 cm? A (interior angle) = (4 x 180°) + 6 = 120°

B. 249 cm? ;

C. 416 cm? T (base area) = [5 (8)(8)sin 600] x 6 = 166.3
D. 748 cm? V = Ah

288 = 166.3h
Sl | -

AAZZE E 1S (total surface area)
= (166.3) x 2 + (8 x 1.73) x 6
= 416 cm?

DSE SS9 i (A L5/ 2021 — HERH B OXFORD

UNIVERSITY PRESS



[DSE 2021 ERITEE 547 (Part 2)}

% 16 8
The sum of the total surface areas of two solid hemispheres is 3517 cm?.

If the ratio of the radius of the smaller hemisphere to the radius of the

larger hemisphere is 2 : 3, then the difference of the volumes of the two
hemispheres is

A. 3421 cm?® T+ wa? + 2+ b2 = 351n
. Tt .
B. 630t cm?3 3ma? + 3wb? = 351w
. . . | -
C. 684n cms. .
D. 1 2607w cm3. —— °
jefE 7 7= (difference of volumes) o
£ . —1rd 3y _1rd 3 _ _
S it 0=
_2 3 _¢3
;7 19767 %zg-)ang
— 3
=342 cm 00
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[DSE 2021 ERITEE 547 (Part 2)}

% 20 =&
In the figure, ABCD is a square. Let E and F be points lying on AB and BC

respectively such that AE = 3BE and ZDEF = 90°. If the area of ADEF is
25 cm?, then the area of ACDF is
4k C

, D
A. 48 cm-. (42 — %(3k)(4k) . %(4;()(%@ — %(k)(%k) =25 A

B. 50 cmZ. .
C. 52 cm?. N
D. 75 cm?. O
o 4k

TERC =8

ACDFHJETE = (4V8)(—-V8)
=52 cm? A 3K E kB
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[DSE 2021 ERITEE 547 (Part 2)}

% 27 &
The slope of the straight line L is 4. It is given that L and the circle
X? +y2 — 18x — 20y + 96 = 0 intersect at the points P and Q. If the

coordinates of the mid-point of PQ are (s, t), which of the following
must be true?

A s—4t—49=0 Y ] B = (9, 10)
B.s-4t+31=0 1
C.s+4t-49=0 m="%
= PQ Y&k
D.s+4t+31=0 — .A (s,t) IR
E ‘ i y=10 _ _1 X+ 4y —49=0
= xX—9 4
Q 4y —40 = —x + 9 l f
X x+4y—49=0 s+4t—-49=0
0 /
92
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[DSE 2021 ERITEE 547 (Part 2)}

% 28 &8
The stem-and-leaf diagram below shows the distribution of the
weights (in kg) of a group of workers.

Stem (tens)| Leaf (units)
5367
61222638
7123457799
83456678

If a worker s randomly selected from the group, find the
probability that the weight of the selected worker is|not less than |
the lower quartile of the distribution.

1 1
A> B: cC> D> X
4 5 6 6
ﬁ
93
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[DSE 2021 ERITEE 547 (Part 2)}

% 37 & y\
Let k be a constant. Find the range of values of k such thatz 0
for any real number x.

A -8<k<4
B.-4<k<8 A
C.k<-8ork>4 A<O
KS—oork= k2 —4(1)(k +8) <0
D.k<-4o0ork>8 °
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[DSE 2021 ERITEE 547 (Part 2)}

% 38 &

The figure shows the rectangle ABCD, where AB = 960 cm and BC =597 cm.
Let E, F and G be points lying on AB, BC and CD respectively such that

AE =638 cm, BF = 280 cm and CG = 480 cm. Denote the point of intersection

of AF and EG by H. Find DH correct to the nearest cm. 960

< =
e S, e N (e} A
B. 729 cm BEA=AE 28 > 14 73.740° R 5'176_14 8240
C. 741 cm E5Z757 (sine law) @ 23 - 2 617.04 3.264 H ' 280
D. 742 cm Wz, (cosine law) : 330 175 SR 710
| 597 F|597
2
=B 317
D G c Y
<f|.58 480 . o5
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[DSE 2021 ERITEE 547 (Part 2)}

% 39 &
In the figure, AC is a diameter of the circle ABCD. EF is the tangent to the circle
at D such that AB // EC. If ZCDF =49° and ZCED = 31°, then ZACB =

A. 49°.
B.57°.

C. 59°.
D. 67°.

YE4R=290°
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(BITRESIARR)

1. KAHF

2. FHEER

3. EE(BAR, BiR,
E/BHR)

=AM IR #

Q.:%H—:Feﬂﬁﬁﬂ
*: 30755 1 7,

555-3%3,
W& - 15 9
4+: 40 &

\2+: 30 #&

% -15 9

~

: N
EEAXF
$e5eRk Level 12°?

\ 4
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